
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Exponenten von 10

10 =4 10 =2

4, 99 × 10 =3 10 =6

10 =4 7 × 10 =0

3 × 10 =2 9 × 10 =2

−1 × 10 =4 10 =3

2, 73 ÷ 10 =2 10 =6

−2 × 10 = 10 =3

−2 × 10 =0 4, 14 ÷ 10 =

7, 4 × 10 =4 4 × 10 =4

4, 69 ÷ 10 =0 10 =3
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Exponenten von 10

10 = 100004 10 = 1002

4, 99 × 10 = 49903 10 = 10000006

10 = 100004 7 × 10 = 70

3 × 10 = 3002 9 × 10 = 9002

−1 × 10 = −100004 10 = 10003

2, 73 ÷ 10 = 0.02732 10 = 10000006

−2 × 10 = −20 10 = 10003

−2 × 10 = −20 4, 14 ÷ 10 = 0.414

7, 4 × 10 = 740004 4 × 10 = 400004

4, 69 ÷ 10 = 4.690 10 = 10003
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